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< 11,550
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= 10,500
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Al 5,250
OASF TS OrMSighi Xl HALM HMel 2&2
25,200,000 =14 25,200
= 12,600
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201 2Et2Ay| 8,350 6,350 2,000
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EY2E At ol 5,964 5,964 0
201 ¢er24| 4,654 4,654 0
01 At 22/l 4,654 4,654 0
OEZL2YE JA=s=2 103,300 53«44 & 2,066
OE22d AEHXAL AIZXH b
91,900& 53 *40H & 1,838
O HAME FHl AXZ  150,000& 53 750
202 04 dl 1,200 1,200 0
01 = LH 4 HI 1,200 1,200 0
OEZ2g 2axXel oyl 100,000& = 12& 1,200
206 M= Hl 110 110 0
01 =4l 110 110 0
OEL2E IAME AZHHE 2
55,0003 *28 A 110
2 819,436 801,016 18,420
< 12,900
Al 806,536
JHelst=xdelAld 2tel 18,252 18,912 A 660
Helst=xelAld 2el 18,252 18,912 A 660
201 Let24d] 11,772 12,432 A 660
01 At 22l 2,148 2,148 0
OMelst=HelAE =ZZA =2
8,600& 152 +12& 1,548
ONEEZ SHRS 50,000& x12& 600
02 =224l 9,624 10,284 A 660
O U2 S RERS
350% *1,10021x12& 4,620
O2EXeE TUHES 2= 50,000& 123 600
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Al 788,284
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